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1. BEFEALEE  (24% > 459/\EH 3%)
a. %Kﬁﬁﬁiﬁ%ﬁﬁéﬁﬁﬁﬁ_ﬁi marginal rate of substitution/technical

rate of substitution S |

b. IEER/S5%EF no@ggn%dé/infcrior goods

c. BRE/ERES substitute/tomplement

d. EfptfE/ EISE4FE risk averter/ risk lover

e. TEHEFEEEMET perfect competition/monopolistic competition
f. FHAIERIER Pareto efficiency

TERTEFE Coase theorem— ———

[NIZHESE The prisoner’s dilemfma |
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a. BIEEMAE (MRS) B ? (3%)
b. & p,=2p, » OHBEESN TER SR RLEBIRE 2 (5%)

3. (10%)
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a. ﬁﬁﬁﬁ%@ﬁZ@i?ﬁ%ﬁsﬁ 7 (4%)
b. REFSHVAIHABLAE BRI 2 (4%)

1. (20%) L=
Please carefully explain me\ferﬁmvmg‘ terms.
a. Debt-deflation theory (4% _
b. Ricardian equivalence (4%)
c. Efficiency wage (4%)
d. Constant returns to scale (4%)
€. Labor-force participation rate (4%)

2. (21%) -

This question is about—the Mundcl]-Flemmg model (small open
economy with perfect capital mobﬂlty) The nominal exchange rate is
defined as units of foreign cu currency per unit of domestic currency and
the real exchange rate is defined as units of foreign goods per unit of
domestic goods.

a. Please explain why a fiscal expansion under floating exchange rate
system leaves income unchanged with aids of diagram(s). (7%)

b. Please explain why 4 menet&ryhexpansmn under fixed exchange
rate system leaves IIJIGGHIC: lmnhanged with aids of diagram(s).
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c. What happens to the national income and nominal exchange rate if
the risk of the country raises? Please explain with the aids of
diagram(s). (7%)

3. (9%) W /Al
Please explain why a fixed amount of physical capital represents
long-run production in ﬁic;béconomics whereas the condition that
both physical capital and-labor are fixed represents long-run in
Macroeconomics.




